S10 - Riduzione maschio - maschio

Riduzione concentrica stampata maschio-maschio

@d, @d, I m

nom nom mm kg

100* 80 26 0,18

125% 80 38 0,16

125% 100 27 0,21

- 150 100 36 0,17

150% 125 31 0,15

T - & 160 80 52 0,30
\ 160* 100 46 0,17

i 160* 125 35 0,22

160 150 20 0,25

200% 100 46 0,22

xeol L - 200* 125 55 0,30
(] (] 200 150 37 037
200* 160 39 0,29

250 125 70 0,62

S ’

250 150 62 0,60

B 250% 160 60 0,46
T 250* 200 42 0,46
315 160 91 0,86
315 200 74 0,83
315* 250 50 0,65
400 200 118 1,37
400 250 G4 1,38
400 315 54 1,29
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